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QUESTION 1

Which ProLiant server line is density-optimized for stacking in rack-mounted server environments? 

A. SL series 

B. ML series 

C. DL series 

D. BL series 

Correct Answer: D 

 

QUESTION 2

Which storage standard evolved from mSATA? 

A. M. 2 

B. USB 3. 0 

C. SATAe 

D. miniSD 

Correct Answer: C 

 

QUESTION 3

What differentiates LRDIMM from RDIMM memory? 

A. Number of ECC bits 

B. Buffered data bits 

C. Unbuffered address lines 

D. Flash memory support 

Correct Answer: B 

 

QUESTION 4

On the OneView Dashboard, you notice that the status icon of one enclosure is red. What does this color indicate? 

A. The enclosure is functioning properly 

B. An event has occurred that might require attention. 
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C. The enclosure is in a critical state and requires immediate attention. 

D. The enclosure is powered down. 

Correct Answer: C 

 

QUESTION 5

What is a benefit of HP FlexibleUDM technology? 

A. Support for both fiber optic and copper connectivity on the same adapter 

B. Ability\\' to partition one physical network adapter into multiple functions 

C. Ability to select the server\\'s default Ethernet interface 

D. Support for multiple networking protocols on the same adapter 

Correct Answer: A 
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